2. x 3. x 4.V 5 x 6.V 7.V 8 x 9. x

L R

1.D 2.C 3.B 4. A 5D 6.C 7.B 8 B 9. B

= M

HLUk, 1, Sb,S, WK SbO3~

0.01 mol « L™"fisk, 24.77

H,CO; —HCO: , H,PO; —HPO;"

0.02

. Cd, Zn

M. ZiA

1. fi m(C6H1206>/M_(3C6H1206) m(iﬁ%ﬂ%)/M(ﬂiiﬂ%)
200 x 10~ kg 500 x 10~ kg

20 ¢x180 g - mol ' x200 kg
M = =400 g
(RF9) = 500 x 10 kg

. HAc Y .

2. fifs KRS : pH = pK© — g % HAC } ARl
[ HAc ]
[Ac ]

[HAc] _ 4 56

[Ac™]

[Ac™ ] =0.15/0.56 =0.26
35 NaAc - 3H,0 [ AR Tt 136 x0.26 =36.4 ¢
3. ff. wE—ICER N HA, ). IREwERR c(HA) =(0.10 x0.05 -0.10x0.02)/0.1 =0.03 mol - L ,
¢(A) ~c(KA) =0.10 x0.02/0.1=0.02 mol - L™, ¢(H*) =10 % mol - L~

AW N =

-1
+ mol

5=4.75 - lg

C(H )e(A7) |: HA_J_ -5.25 _ -6
JHIJK c(HA) [HA] =0.02 x10 /0.03=3.75x10

B F—ICHIR (HA) B KD J2:3.75 x10 7%,
4. . (1) JInA NaOH ¥ A
[H'] = /cF?=/0.10x1.8 x10 ° =1.34 x10 * mol - L.”'
(2) nA NaOH J5, HAc #1125 mL, 2E 7 25 mL, 0. 10 mol -+ L") NaAc,
[H"]=1.8 x10 > mol - L™
(3)HAc HFAIFTH[H 2P RS R (1.34 x107°) /(1.8 x107°) =74.4 f%,
5. f#: MR pH =4.70 A] %0
KR W TR 2 wp A HAe — NaAce, HARYE 50 mL, 1.0 mol + L'y NaOH n] %12% i ' NaAc
VI 0.1 mol - L™ RUBAEINEE pH HE1 4050 pit =T -l (32
[ HAc]
0.1
[HAc] =~c(HAc) =0.11 mol - L™
FF 1.0 mol - L' HAc I Vy,, =50 +55 =105 mL
FhK V,e =500 - 105 —50 =345 ml.,
6. . HAc B8 HAc=H" + Ac”

K] =1.76 x 10 °H3145: 4.7 =pl.76 x10 ° -1g



(D[H"]
[H" ][ Ac” ]

=[Ac ] =c(HAc) xa =0.01 x4.2% =4.2x10 * mol - L'
[

x4.2 x107*

(2)K. = [HAc ]

7. (L) FIAE MU [ NH, | = (0.10 x0.02 —0. 10 x0.01)/(0.02 +0.01) =0.033 mol -

_4.2x107"

_ -5
0.01 =1.76 x10

e AR R B T BE[NH, ] =0.1 x0.01/(0.02 +0.01) =0.033 mol - L™

[NH, "]
[ NH, ]

pH = ~lg

K@

[NH ]
[NH]

0.033

lgo 033 =9.26

= =14 -4.74 +
pKf

(2) H AL M BE ¢(NH,C1) =0.10/2 =0.05 mol -

[H"] =

(3) At

8. fift: T e FAR RN I pky
RO A A X EWREELE, IR S EAE 0.1 ~ 1 mol -

Xt iz g i

¢(NH,CD)K® =

pH=-lg[H" ] =
FRHeE[H ] = (0.1 x0.03 =0.1x0.02)/(0.02 +0.03) =0.02 mol « L™'

0.05%x5.65x10 " =5.32x10"° mol + L™

—1g5.32 x107° =4.27

pH= —lg[H* ] = -10.02=1.7,
IR J5 ELR L A 2% hiA W pH = pKS £ 1 A JE N e 15 45 35 14 2% o
L' 28], FFER LR whis i pH =

10. 10, W%k pKoFE 9. 10 ~11. 10 2],

pKZ(HCOOH) = 3.74
pK®(H,BO,) = 9.24

w] jLi%k$E H,BO, — NaH,BO, #1 NH,Cl -

AR+ HyBO, - NaH,BO,, ] pH =

R P NH,Cl - NH,, W] pH =

9. ff. ARSI, Mg M 0.25 mol - L~
c(OH™) = /T_

pKZ(HAc) = 4.74
pK®(NH, ) =9.26

NH, 2L,
1,80, ]

pK? -1g [H,BO- ]ﬁ/\é@ﬂ}%ﬁ%ﬁ
[H,B0,

—— = 0.1380

[H,BO. ]

K2 _1g s }ﬁAﬁﬁ+ﬁ

NE; ]
[NHJ =(0. 1445

', NH,. H,0 f¥E H 0.05 mol - L', FrIA

0.05x1.77x10°=9.3 %10 "* mol - L.™*

. O Q=c(OH™)* xe(Mg®) =(9.3x107*)% x0.25 >K =2.06 x 10 ™", A VLI

@EAf Mg(OH) , AULHE , W e(OH ™) M BER/NT: ¢(OH ™) < /K /Mg*”
o  [NH/] K7  [NH/]

FiARYE pH =14 - pOH =pK| - 1g N, ~ K@—lg NI ]

8. ¢[NH; ] =0.11 mol - L™" 1. NH,Cl (54 0.23 g,

10.%;ﬁ7§%§ﬁs,mﬂs:1.12xlo mol «+ L7

i K[ Mg(OH), ] =4s’ = (1.12x107*)* x4 =5.61 x10
11, i SRR Y C17 AL AgCl UTTENTH , rdg iy Ag ™ [WREZE R

[Ag* ] =K (AgCl)/[C17]=1.77%107"/0.05=3.5x10"" mol - L'
Bl Ag* ] =3.5%10"" mol - L™"0}, ¥ Y C1- RISk i AgCl ULHEMTH o

() MR PR CrO, B h Ag, CrO, ULFEMT I, Fra MV EE Ag ™ 1 AR RT TR SR 15

[Ag™ ] = /KO (Ag,Cr0,)/[CrO; ] = /5.4 x1077/0.05 =1.04 x 10> mol -

Lt

B [Ag®]" =1.04 x10 " mol

LU, WROT Ag T A AR A, CrO UIVERTHY . AR, R P

I AgNO; , B SEULTENT AN 2 AgCl .

(2) B AgCl BRI TLTERT Y, P RIA Y CL™ BTk BEAN BT A

AT 1Y C1™ 4k2E DL AgCl LV



Brit, SR AW =AM Ag ™ AUV BE . 4 Ag” FIREERIIE N, AN 2 Ag, CrO, TUTE BT i ZE K i,
Ag, CrO, 5t 2x 5 AgCl [FIRTTIENT o BRI, i Ag, CrO, JFIRTLIEMT Hh BT B9 Ag ™ B 3~ B2 FIrxf I A4 CL™ g
THREE, Wghsg AgCl 5 Ag, CrO, [AIFITTEAT HH Y CL™ B U BE o 2 BRI BRI AT ISR B CL™ B 1k
JE
[Cl7] =K (AgCl)/[Ag*]1=1.77%10""/1.04 x10* =1.70 x 10 > mol - L'
12, fi#: ZnS FFURUITERT S*~ RO EE N
_KS(ZnS) 2.5 %10

2- e _ -21
($7) /e 01 C o S2-5x10
K . K° _[C(H+)/Ce] xc(S*7)/c®
2o Ta T ¢(H,8)/c®
c(H+)/cO—J[C(HZS)/c®] - K, - K \/0 Ix1.3x10 7 x7.1x10°" o oo H 0.7
c(87)/c° 2.5x10°2 ' pE=T
In’* SEAVUER S* M E N
B KS(ZnS)  2.5x10°% B} [e(H")/c®] xe(S*7)/c°
2 6: sp — :2‘ 1 17 Ke . K@ - ¢ H+ S}
S e = 10 0.1 <107 T 23 x10 w e c(H,8)/c® (H7)/e
_\/[c(HzS)/ce] - K, 'Ki_Jo.1x1.3 X107 X7 1x10°° _ | o o
c(S*7)/c® 2.5%10°" :
13. f#: 1. Cu’" +4NH,——=[ Cu(NH,),]*"

NH, - H,0 idht, % Cu’* ¥ Cu(NH,), ]
[Cu®* ]y =0.05 mol - L™ FFLA[ Cu(NH;), %) =0.05 mol - L'
[NH, - H,0] ;,; =(6.0-0.10 x4)/2 =2.8 mol - "'
[ Cu®? ] g4 =2 mol - L™
[Cu(NH,),]*"== Cu’" +4NH,

RS/ (mol - L71) 0.050 0 2.8
ST EE/ (mol + L7 0.050 -« x 2.8 +4«x
4 x fR/7 0. 050 —x~ 0.050), 2.8 +4x=2.8

KS=2.09x10"

KS =[Cu(NH,),]**/[Cu’* ][ NH,]* =0.050/x x2.8" =2.09 x10 "

KB x=3.9%x10" mol - L'

14.f#%: (1)Zn(OH), +20H [Zn(OH); ] K=K{ xK{ =0.032

(2)0.010/x> =0.032 x=0.56

&y & NaOH LG y=x+0.020 =0. 58 mol - L

15. fif: FIHRB M7 DR UL B0 A TE Ry A b 232 HE ok 5 1) 43 B 0 1 K98 im A 0K SOk 452
AR, TER KL A TER s eI A RUK S, B, WHIEPTERM I h A KL,

16. i




